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Using the slope and y-intercept, determine the equation of the line.
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MULTIPLE REPRESENTATIONS 41.1-4.1.7
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Based on the tile pattern below, draw Figures 0, 4, and 5. Then find a rule that will give
the number of tiles in any figure and use it to find the number of tiles in Figure 100.
Finally, display the data for the first six figures (numbers 0-5) in a table and on a graph.
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Based on the tile pattern below, draw Figures 0, 4, and 5. Then find a rule that will give
the number of tiles in any figure and use it to find the number of tiles in Figure 100.
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Use the patterns in the tables and graphs to write rules for each relationship.

3. | input (x) -3 -2 | -1 0 1
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output (p) | —11 | 8 =5 -2 1 4 7 10 13

4 [Gmput) | 3 [ 2] 1] 0 1 2 3 4 [ 5

output() | 10 | 8 | 6 | 4 | 2 | 0 | 2| 4] =6
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LINEAR GRAPHS USING y=mx+b
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Problems

Determine the slope of each line using the highlighted points.
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Find the slope of the line containing each pair of points. Sketch a slope triangle to visualize the

vertical and horizontal change.
4. (2,3)and (5,7) 5. (2,5 and (9,4)

7. (=2,1)and (3,-3) 8. (=2,5)and (4,5)

6.

9.

(1,-3) and (7,-4)

(5.8) and (3, 5)
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Use a slope triangle to find the slope of the line containing each pair of points:
10. (50, 40) and (30, 75) 11. (10, 39) and (44, 80) 12. (5,-13) and (=51, 10)
Identify the slope and y-intercept in each equation.

1x-2 14. y=-3x+5 15. y=4x

16. y==-3x+1 17. y=x-7 18. y=5




